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Mathematical Concepts — Exam 1 Name: =&/ Cre G
MAT 117, Fall 2021 — D. Ivansié

Show all your work!
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1. (6pts) 13 is 32 percent of which number?
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2. (8pts) How much should be deposited now in an account bearing 4.18% interest, com-
pounded quarterly, in order to have $2000 in five years?
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3. (10pts) A pair of sneakers with original price 99 is on sale with an 18% reduction in
price. A shopper bought the discounted pair in Kentucky, where sales tax is 6%. What is
the total amount she paid for the sneakers? N
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4. (8pts) You took out a loan of $500 with simple interest rate 10% and repaid it with
$562.50. How long did you have the loan?
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5. (14pts) Single mom Fiona, who has two children, files income taxes using the “head of
household” filing status. She earned $54,000 in wages, $690 in interest, and deposited $7,000
into a retirement account; she paid 36,200 in mortgage interest, $1,400 in property taxes,

$3,100 in state income taxes and donated $300 to charity.
a) Find Fiona’s gross income and adjusted gross income.

b) Use the table below to first determine Fiona's taxable income (don't forget the exemptions)

and then find the tax on this income.
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6. (14pts) Angelo would like to save for a $1-:lfﬂ1h'(ﬁ ?n;-::t.urnyclu.

a) How much should he deposit every week into an account with 4.75% interest, compounded
weekly, in order to have $14,000 in five years?

b) How much of the final amount is from deposits and how much from interest?
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8. (8pts) Bologna Bank is offering a 2.34% interest rate on an account that is compounded
daily, while Salami Savings has an account with interest rate 2.32%, compounded quarterly.

Which account is the better deal? W I'/ [4+.E )” I
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Bonus. (10pts) Darius invested 35000 in a mutual fund. Six years later, this investment

had value $13,500. Assuming annual compounding, at what annual rate did this investment
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7. (32pts) True story: physician assistant Hayley Arceneaux spent three days in orbit on
a SpaceX spacecraft. Made-up part: to house all the memorabilia connected to this flight,
she decided to build an addition to her house costing $104,000, financing it with a 15-year
loan at interest rate 2.34%, compounded monthly,

a) What is her montly payment on the loan?

b) What are her total payments over the course of the loan? How much of this amount is
for interest?

c) How much of her first payment goes toward interest, and how much towards the prineipal?
d) What is the balance on the loan aftm; 9 years?

-k

ﬂ ~, r’.f)
| o | \ = Ly
. 'I,. ?;JM'T o2
-E |
f: ;’JI{:!!" \J-.._ll."l
l={F% =]

o HIL
'ILU-CT-EPJ_”(J - 9 M T 9
I}IA'T = -'_‘_I_{‘_ - Ggs‘r '§J F{,&'L‘.,-\.g.bu‘i
\$) .6/ _
toted

£) GESAS - 115+ 123,40 pepe

ot

|I'?1_IC|’I?+|'[JdIf:rmﬂ~_ }ﬂ.él.? i

| |
.73 - Ty Lot/
Jlﬁ'— = QrJ 4 60 e

|9
| L

c) 04 00() -

hoe Tr ey ¥
11 d

695.95- 200,80 - 493,05 ke

N NG e e {;,Enf,r

N
AL A
L L z._____ : rf 2
P=64<.45 - ——ll— ), C9C6S-671 .- - 46,016 |
S e (.0214 ?




